Evaluation Report

(As per Rule 35 of Public Procurement Rules, 2017)

District Health Officer Office Mirpur (A.K) 1- Name of Procuring Agency

Open Competitive Bidding 2- Method Of Procurement

(Single stage-Two Envelope Procedure) Dental Medicine & Allied Material 3- Title of Procurement

4- Tender Inquiry No AJK-MR-23-N-2021

Daily Parliament Time, Khabrain, Adalat

Mirpur, Kashmirexpress 20-09-2021

5- PPRA Ref. No.(TSE) <u>3306</u>

6- Date& Time of Bid Closing

01-11-2021 -11AM 01-11-2021 -11:30 AM 7- Date& Time of Bid Opening

8- No. Of Bids Received

9- Criteria For Bid Evaluation TECHNICAL & FINANCIAL

10- Details of Bid (s) Evaluation As under

| S.No:01 Specification: Den cartridge of 108ml | rochloride | Item Name :Lignocaine Inj ochloride 2% Solution with Adrenaline 1:80,000.Box/tin of 100 or less | | | | |
|---|---------------------------------|--|--------|-------------|----------|--|
| Name of Bidder | M | arks | Eva | alution Cos | st (Rs) | Rule/Regulation/SBD/Policy/Basis |
| | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| Bio Chem Distributor | 70 | N/A | 62 Box | 2650/- | 164300/- | Accepted Being First Lowest being |
| Ali & Brother | 75 | N/A | 62 Box | 3750/- | 232500/- | Second lowest bid. |

Lowest Evaluated Bidder Bio Chem Distributor Item Name: Glass Ionomer (GC) Type II SNo:2 Item No:-2 Manufacturer: GC Japan Secification: 35gm.Individually packed bottle having mono carton with product.

| - 6 | | | | | | | | | | | |
|-----|-------------------------|---------------------------------|---------------------------------|---------|-------------|---------|--|--|--|--|--|
| 3 | Name of Bidder | M | arks | Eva | lution Cost | (Rs) | Rule/Regulation/SBD/Policy/Basis | | | | |
| | Name of Bidder | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 | | | | |
| | Bio Chem Distributor | 70 | N/A | 08 Pack | 4050/- | 32400/- | Accepted Being First Lowest being | | | | |
| | Ali & Brother | 75 | N/A | 08 Pack | 5550/- | 44400/- | Second lowest bid. | | | | |
| | Lowest Evaluated | d Bidder | | | | | Bio Chem Distributor | | | | |

| | S.No:3 Item No:-22 Item Name: Dental Needles for anesthesia (Pack of 100) Manufacturer: H.Dent Japan Specification: (Small). | | | | | | | | | |
|-------------------------|---|---------------------------------|---------|-------|--------|--|--|--|--|--|
| Name of Bidder | Rule/Regulation/SBD/Policy/Basis | | | | | | | | | |
| | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 | | | | |
| Bio Chem Distributor | 70 | N/A | 01Pack | 800/- | 800/- | Accepted Being First Lowest being | | | | |
| Ali & Brother | 75 | N/A | 01 Pack | 900/- | 900/- | Second lowest bid. | | | | |
| Lowest Evaluate | d Bidder | | | | | Bio Chem Distributor | | | | |

| S.No:4 Ite Manufacturer: I | em No:-23 I.Dent Japan | | ne: Dental N cification: (I | Needles for anes Large). | thesia(| Pack of 100) |
|-------------------------------|---------------------------|---------------------------|--------------------------------|--------------------------------|---------|--|
| Name of Bidder | M Technical | Marks Technical Financial | | lution Cost (Rs) |) | Rule/Regulation/SBD/Policy/Basis |
| | (If Applicable) | (If Applicable) | Qty | Rate An | nount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| Bio Chem Distributor | 70 | N/A | 156(Piece) | 800/- Pack of 100 08 (Each) | 1248/- | Accepted Being First Lowest being |
| Ali & Brother | 75 | N/A | 156(Piece) | 900/- Pack of 100 09 (Each) | 1404/- | Second lowest bid. |
| Lowest Evaluate | d Bidder | | | | | Bio Chem Distributor |

Scanned with CamScanner

| S.No:5 Ite | m No:-28 | Item Nan | ne: Hand | l Piece Oil Sp | ray N | Manufacturer: Apple Dental China | |
|-------------------------|---------------------------|---------------------------------|---------------|----------------|------------|--|--|
| Specification: 550 | ml Bottle. In | dividually page | cked in b | ottle having | mono carto | n. | |
| Name of Bidder | | arks | E | valution Cost | t (Rs) | Rule/Regulation/SBD/Policy/Basis | |
| | Technical (If Applicable) | Financial (If Applicable) | Qty Rate Amou | | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 | |
| Bio Chem Distributor | 70 | N/A | 01 | 1250/- | 1250/- | Accepted Being First Lowest being | |
| Ali & Brother | 75 | N/A | 01 | 1500/- | 1500/- | Second lowest bid. | |
| Lowest Evaluate | d Bidder | | | | | Bio Chem Distributor | |

District Health officer Mirpur AK

Evaluation Report

(As per Rule 35 of Public Procurement Rules, 2017)

1- Name of Procuring Agency

District Health Officer Office Mirpur (A.K)

2- Method Of Procurement **Open Competitive Bidding**

(Single stage-Two Envelope Procedure)

3- Title of Procurement

Unani Medicines 4- Tender Inquiry No AJK-MR-23-N-2021

Daily Parliament Time, Khabrain, Adalat Mirpur, Kashmirexpress 20-09-2021

5- PPRA Ref. No.(TSE)

6- Date& Time of Bid Closing 7- Date& Time of Bid Opening

01-11-2021 -11AM 01-11-2021 -11:30 AM

8- No. Of Bids Received

<u>3306</u>

9- Criteria For Bid Evaluation

TECHNICAL & FINANCIAL

10- Details of Bid (s) Evaluation

As under

| Name of Bidder | Ma Technical | rks Financial | Eva | lution Cos | t (Rs) | Rule/Regulation/SBD/Policy/Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
|-------------------------|--------------------|------------------|------------|-----------------|-------------|--|
| | (lf Applicable) | (If Applicable) | Qty | Rate | Amount | |
| Bio Chem Distributor | 60 | N/A | 100 Bottle | 98.50/- | 9850/- | Accepted Being First Lowest being |
| Ali & Brother | 70 | N/A | 100 Bottle | 132/- | 13200/- | Second lowest bid. |
| Lowest Evaluated | Bidder | | | Bio Chem | Distributor | |

| | بنی۔ قرشی دوا۔ | نام کم | 12 ملى ليٹر | بیکنگ ۔ 0 | | آئیٹم نمبر۔2 لال شریت |
|-------------------------|--------------------|-----------------|---------------|-------------|---------|--|
| Mame of Bidder | Mame of Bidder Ma | | Eva | alution Cos | st (Rs) | Rule/Regulation/SBD/Policy/Basis |
| | (If Applicable) | (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| Bio Chem Distributor | 60 | N/A | 60 Bottle | 109/- | 6540/- | Accepted Being First Lowest being |
| Ali & Brother | 70 | N/A | 60 Bottle | 132/- | 7920/- | Second lowest bid. |
| Lowest Evaluated | | Bio Chen | n Distributor | | | |

| واخانه | پنی۔ ہمدرد دو | نام کم | 120 ملى ليثر | پیکنگ ۔ (| ی | آئیٹم نمبر۔3 شریت صدر | |
|-------------------------|---|--------|-----------------|--------------|-------------|--|--|
| Name of Bidder | Marks | | Eva | alution Cost | (Rs) | Rule/Regulation/SBD/Policy/Basis | |
| | Technical Financial (If Applicable) Applicable) | | Qty Rate Amount | | | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 | |
| Bio Chem Distributor | 60 | N/A | 70 Bottle | 63.30/- | 4431/- | Accepted Being First Lowest being | |
| Ali & Brother | 70 | N/A | 70 Bottle | 85/- | 5950/- | Second lowest bid. | |
| Lowest Evaluated | Bidder | | | Bio Chem | Distributor | | |

| واخانه | کمپنی۔ اجمل د | . نام ک | 120 ملى ليثر | پیکنگ ۔ | یتی | آئيتم نمبر ـ 4 شربت سلاجم |
|-------------------------|------------------|----------------------|--------------|---------------------|--------|--|
| Name of Bidder | Mai | Marks | | Evalution Cost (Rs) | | Rule/Regulation/SBD/Policy/Basis |
| | Technical (If | (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| | Applicable) | (, pp | Qiy | | | |
| Bio Chem Distributor | 60 | N/A | 100 Bottle | 75/- | 7500/- | Accepted Being First Lowest being |
| Ali & Brother | 70 | N/A | 100 Bottle | 90/- | 9000/- | Second lowest bid. |
| Lowest Evaluated | | Bio Chem Distributor | | | | |

| دواخانه | کمپنی۔ قرشی | ٹر نام | . 100 ملى ليا | پیکنگ ۔ | يت | آئیٹم نمبر۔ 5 بے ٹانک شر |
|-------------------------|---------------------------------|------------------------------|---------------|------------|---------------|--|
| Name of Bidder | | | | alution Co | st (Rs) | Rule/Regulation/SBD/Policy/Basis |
| 30.00 | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| Bio Chem Distributor | 60 | N/A | 150 Bottle | 70/- | 00500/- | Accepted Being First Lowest being |
| Ali & Brother | 70 | N/A | 150 Bottle | 130/- | 19500/- | Second lowest bid. |
| Lowest Evaluated | | | | Bio Che | m Distributor | |

| واخانه | کمپنی۔ قرشی د | نام ک | ۔ 60 ملی لیٹر | پیکنگ ۔ | يت | آئیٹم نمبر۔ 6 سرفی کول شر |
|-------------------------|---------------------------------|------------------------------|---------------|------------|---------------|--|
| Name of Bidder | | | | alution Co | st (Rs) | Rule/Regulation/SBD/Policy/Basis |
| | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| Bio Chem Distributor | 60 | N/A | 120 Bottle | 70/- | 8400/- | Accepted Being First Lowest being |
| Ali & Brother | 70 | N/A | 120 Bottle | 80/- | 9600/- | Second lowest bid. |
| Lowest Evaluated | Bidder | | | Blo Che | m Distributor | |

| واخانه م | بنی۔ ہمدرد د | نام که | - 100 گرام | پیکنگ | پوڈ ر | آئيٹم نمبر۔7۔ سومينا سمدرد | |
|-------------------------|---------------------|-----------------|------------|-------------|---------------|--|--|
| Name of Bidder | Marks | | Ev | alution Cos | it (Rs) | Rule/Regulation/SBD/Policy/Basis for Rejection//Acceptances per | |
| | Technical Financial | | 1 | | | | |
| | (lf Applicable) | (If Applicable) | Qty | Rate | Amount | Rule 35 of AJK PPRA Rules,2017 | |
| Bio Chem Distributor | 60 | N/A | 100 Pack | 103/- | 10300/- | Accepted Being First Lowest being | |
| Ali & Brother | 70 | N/A | 100 Pack | 200/- | 20000/- | Second lowest bid. | |
| Lowest Evaluated | Bidder | - | - | Bio Cher | n Distributor | | |

| نام کمپنی۔ قرشی دواخانه | | | پیکنگ ۔ 120 ملی لیٹر | | ت | آئیٹم نمبر۔8 دماغون شری |
|-------------------------|---------------------------------|------------------------------|-----------------------|-------------|-------------|--|
| Name of Bidder | Marks | | Eva | lution Cost | (Rs) | Rule/Regulation/SBD/Policy/Basis |
| | Technical (lf Applicable) | Financial (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| Bio Chem Distributor | 60 | N/A | 100 Bottle | 99.50/- | 9950/- | Accepted Being First Lowest being |
| Ali & Brother | 70 | N/A | 100 Bottle | 150/- | 15000/- | Second lowest bid. |
| Lowest Evaluated | Bidder | • | | Bio Chem | Distributor | |

| انه م | نام کمپنی۔ قرشی دواخانه م | | | پیکنگ ۔ 20 | ت پ | آئيتم نمبر۔9 يوروسينال شريت | |
|------------------------|---------------------------|-----------------|------------|--------------|---------------|--|--|
| Name of Bidder | | | Eva | alution Cost | (Rs) | Rule/Regulation/SBD/Policy/Basis for Rejection//Acceptances per | |
| Health (A.K.) | (If Applicable) | (If Applicable) | Qty | Rate | Amount | Rule 35 of AJK PPRA Rules,2017 | |
| Bo Chem Distributor | 60 | N/A | 120 Bottle | 97.50/- | 11700/- | Accepted Being First Lowest being | |
| Ali & Brother | 70 | N/A | 120 Bottle | 120/- | 14400/- | Second lowest bid. | |
| Lowest Evaluated | d Bidder | | | Bio Chem | n Distributor | | |

| نام کمپنی۔ ہمدرد دواخانه | | | پیکنگ ۔ 15 ملی لیٹر | | | آئیٹم نمبر۔10 دوائے چشم | | |
|--------------------------|---------------------------------|------------------------------|---------------------|--|----------------------|----------------------------------|--|--|
| Name of Bidder | Ma | Marks | | alution Co | st (Rs) | Rule/Regulation/SBD/Policy/Basis | | |
| | Technical (If Applicable) | Financial (If Applicable) | | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 | | | | |
| Bio Chem Distributor | 60 | N/A | 100 Bottle | 45/- | 4500/- | Single Responsive Bidder | | |
| Lowest Evaluate | Lowest Evaluated Bidder | | | | Bio Chem Distributor | | | |

| إخانه | ں بیکنگ ۔ 10 ملی لیٹر | | س | آئیٹم نمبر۔ 11 کانول ڈراپ | | |
|-------------------------|---------------------------------|---------------------------|----------------------|---------------------------|----------|--|
| Name of Bidder | Marks | | Evalution Cost (Rs) | | ost (Rs) | Rule/Regulation/SBD/Policy/Basis |
| | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| Bio Chem Distributor | 60 | N/A | 150 Bottle | 40/- | 6000/- | Single Responsive Bidder |
| Lowest Evaluated | Bidder | | Bio Chem Distributor | | | |

| واخانه ه | کمپنی۔ قرشی د | نام ک | 120 ملى ليٹر | پیکنگ ۔ | پت | آئیٹم نمبر۔12 مستورین شر |
|-------------------------|---------------------------------|-----------------|---------------------|--|---------|-----------------------------------|
| Name of Bidder | Marks | | Evalution Cost (Rs) | | st (Rs) | Rule/Regulation/SBD/Policy/Basis |
| | Technical (If Applicable) | (If Applicable) | | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 | | |
| Ali & Brother | 70 | N/A | 228 Bottle | 80/- | 18240/- | Accepted Being First Lowest being |
| Bio Chem Distributor | 60 | N/A | 228 Bottle | 81/- | 18468/- | Second lowest bid. |
| Lowest Evaluated | Bidder | | | Ali & Bi | rother | |

| واخانه م | مپنی۔ قرشی د | نام ک | 120 ملى ليار | پیکنگ ۔ | رپ | آئیٹم نمبر۔ 13 گیسٹوفل سیر |
|-------------------------|---------------------------------|------------------------------|--------------|-------------|---------------|---|
| Name of Bidder | Marks | | Eva | alution Cos | | Rule/Regulation/SBD/Policy/Basis |
| | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201 |
| Bio Chem Distributor | 60 | N/A | ♦50 Bottle | 98.40/- | 14760/- | Accepted Being First Lowest being |
| Ali & Brother | 70 | N/A | 150 Bottle | 100/- | 15000/- | Second lowest bid. |
| Lowest Evaluated | l Bidder | | | Bio Chei | m Distributor | |

| خانه | پنی۔ قرشی دوا۔ | آئیٹم نمبر۔ 14 توت سیاہ بیکنگ ۔ 120 ملی لیٹر | | | | |
|-------------------------|--------------------|--|-----------|-------------|---------------|--|
| Name of Bidder | Ma | irks | Ev | alution Cos | it (Rs) | Rule/Regulation/SBD/Policy/Basis |
| | Technical | Financial | | | (/ | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| | (lf Applicable) | (If Applicable) | Qty | Rate | Amount | |
| Bio Chem Distributor | 60 | N/A | 60 Bottle | 98.50/- | 5910/- | Accepted Being First Lowest being |
| Ali & Brother | 70 | N/A | 60 Bottle | 100/- | 6000/- | Second lowest bid. |
| Lowest Evaluated | A Bidder | - | | Bio Cher | m Distributor | |

| واخانه | مپنی۔ قرشی دو | نام ک | - 100 گرام | عونی بیکنگ ۔ 100 گرام | | آئیٹم نمبر۔ 15 جوارش زر | |
|-------------------------|--------------------|-----------------|------------|-----------------------|---------------|--|--|
| Name of Bidder | Mai | | Ev | valution Cos | st (Rs) | Rule/Regulation/SBD/Policy/Basis | |
| | Technical | Financial | | | | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 | |
| | (If Applicable) | (If Applicable) | Qty | Rate | Amount | | |
| Bio Chem Distributor | 60 | N/A | 26 Pack | 118/- | 3068/- | Accepted Being First Lowest being | |
| Ali & Brother | 70 | N/A | 26 Pack | 150/- | 3900/- | Second lowest bid. | |
| Lowest Evaluated | Bidder | | | Bio Che | m Distributor | • | |

| | إخانه | نام کمپنی۔ ہمدرد دواخانه | | | ی پیکنگ ۔ 20 گولیاں | | آئيٹم نمبر۔ 17 حب اوجاء | |
|---|-------------------------|--------------------------|-----------------|-------------|---------------------|----------------------------------|-----------------------------------|--|
| | Name of Bidder | | Ev | alution Cos | st (Rs) | Rule/Regulation/SBD/Policy/Basis | | |
| | Health (5) | Technical Financial | | | | | for Rejection//Acceptances per | |
| À | Helle (A.K.) Bio Chem | (If Applicable) | (If Applicable) | Qty | Rate | Amount | Rule 35 of AJK PPRA Rules,2017 | |
| | Bio Chem Distributor | 60 | N/A | 50 Pack | 97/- | 4850/- | Accepted Being First Lowest being | |
| | Ali & Brother | 70 | N/A | 50 Pack | 100/- | 5000/- | Second lowest bid. | |
| | Lowest Evaluated | Bidder | | | Bio Chei | | | |

| نام کمپنی۔ قرشی دواخانه | | | ق بیکنگ ۔ 20گولیاں | | اقى | آئیٹم نمبر۔18 حب ازر | |
|-------------------------|---------------------------------|---------------------------|--------------------|--|--------|-----------------------------------|--|
| Name of Bidder | Marks | | Ev | alution Cost | t (Rs) | Rule/Regulation/SBD/Policy/Basis | |
| | Technical (If Applicable) | Financial (If Applicable) | | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 | | | |
| Bio Chem Distributor | 60 | N/A | 60 Pack | 78.80/- | 4728/- | Accepted Being First Lowest being | |
| Ali & Brother | 70 | N/A | 60 Pack | 90/- | 5400/- | Second lowest bid. | |
| Lowest Evaluated | 1 | Bio Chen | n Distributor | | | | |

| نام کمپنی۔ ہمدرد دواخانه | | 20گولياں | پیکنگ ۔ | ط | آئيٹم نمبر۔19 حب نشا | |
|--------------------------|---------------------------------|------------------------------|----------|-------------|----------------------|--|
| Name of Bidder | Ma | rks | | Evalution | Cost (Rs) | Rule/Regulation/SBD/Policy/Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | |
| Bio Chem Distributor | 60 | N/A | 50 Pack | 158.50/- | 7925/- | Accepted Being First Lowest being |
| Ali & Brother | 70 | N/A | 50 Pack | 180/- | 9000/- | Second lowest bid. |
| Lowest Evaluated | | • | Bio Chem | Distributor | | |

| نام کمپنی۔ ہمدرد دواخانه ه | | | پیکنگ ۔ 100 گرام | | | آئيٹم نمبر۔20 سفوف مغلظ |
|----------------------------|---------------------------------|------------------------------|---------------------|----------|---------|--|
| Name of Bidder | Marks | | Evalution Cost (Rs) | | | Rule/Regulation/SBD/Policy/Basis |
| | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| Bio Chem Distributor | 60 | N/A | 80 Pack | 157.80/- | 12624/- | Accepted Being First Lowest being |
| Ali & Brother | 70 | N/A | 80 Pack | 210/- | 16800/- | Second lowest bid. |
| Lowest Evaluated | | Bio Chen | Distributor | | | |

| اخانه | نی۔ ہمدرد دو | نام کمپ | 100 گرام | پیکنگ ۔ | موني | آئیٹم نمبر۔21 جوارش کو |
|-------------------------|---------------------------|---------------------------|--------------|----------|--|-----------------------------------|
| Name of Bidder Marks | | E | valution Cos | st (Rs) | Rule/Regulation/SBD/Policy/Basis | |
| | Technical (If Applicable) | Financial (If Applicable) | Dulo 35 of | | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 | |
| Bio Chem Distributor | 60 | N/A | 73 Pack | 112.40/- | 8205.2/- | Accepted Being First Lowest being |
| Ali & Brother | 70 | N/A | 73 Pack | 120/- | 8760/- | Second lowest bid. |
| Lowest Evaluated | | | | Bio Cher | m Distributor | |

District Health Officer Mirpur A.K Official Stamp: District Health Officer Mirpur (A.F.)

Scanned with CamScanner

Evaluation Report (As per Rule 35 of Public Procurement Rules, 2017)

1- Name of Procuring Agency

District Health Officer Office Mirpur (A.K)

2- Method Of Procurement

Open Competitive Bidding (Single stage-Two Envelope Procedure)

3- Title of Procurement

Laboratory Chemical/Kit F.Y 2021-22

4- Tender Inquiry No

AJK-MR-23-N-2021

Daily Parliament Time, Khabrain, Adalat

Mirpur, Kashmirexpress 20-09-2021

5- PPRA Ref. No.(TSE)

3306

6- Date& Time of Bid Closing 7- Date& Time of Bid Opening

01-11-2021 -11AM 01-11-2021 -11:30 AM

8- No. Of Bids Received

<u>03</u>

9- Criteria For Bid Evaluation

TECHNICAL & FINANCIAL

As under

10- Details of Bid (s) Evaluation

| S.No: 1 | Ite | m No:-1 | Creatin | ine Kit 1x20 | 0ml | |
|-----------------------------|---------------------------------|---------------------------------|---------|---------------|---------|---|
| Name of Bidder | Marks | | | Evalution Cos | t (Rs) | Rule/Regulation/SBD/Policy/Ba |
| | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| M/S Bio Chem Distributor | 70 | N/A | 02 | 3090/- | 6180/- | Accepted Being First Lowest being |
| M/S Ali & Brother | 75 | N/A | 02 | 3780/- | 7560/- | Second lowest bid. |
| M/S Star Traders | 80 | N/A | 02 | 8500/- | 17000/- | 3 rd lowest bid. |
| Lowest Evaluated E | Bidder | | | | | M/S Bio Chem Distributor |

| &No: 2 | Iter | n No:-2 | Choleste | erol Kit 5x10 | 00ml | |
|-----------------------------|---------------------------|-----------------|----------|---------------|---------|---|
| ame of Bidder | Marks Technical Financial | | E | valution Cost | t (Rs) | Rule/Regulation/SBD/Policy/Ba sis for Rejection//Acceptances |
| | (If Applicable) | (If Applicable) | Qty | Rate | Amount | per Rule 35 of AJK PPRA Rules,2017 |
| M/S Bio Chem Distributor | 70 | N/A | 02 | 9665/- | 19330/- | Accepted Being First Lowest being |
| M/S Star Traders | 80 | N/A | 02 | 11430/- | 22860/- | Second lowest bid. |
| M/S Ali & Brother | 75 | N/A | 02 | 14700/- | 29400/- | 3 rd lowest bid. |
| Lowest Evaluated E | Bidder | | 1 | | M | /S Bio Chem Distributor |

| S.No: 3 | Item No:-3 Triglycerides Kit 5x100ml | | | | | | | |
|-----------------------------|--------------------------------------|---------------------------------|-----|--------------------|----------|---|--|--|
| Name of Bidder | Marks | | | Evalution C | ost (Rs) | Rule/Regulation/SBD/Policy/Ba | | |
| | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 | | |
| M/S Bio Chem Distributor | 70 | N/A | 02 | 9300/- | 18600/- | Accepted Being First Lowest being | | |
| M/S Ali & Brother | 75 | N/A | 02 | 15750/- | 31500/- | Second lowest bid. | | |
| M/S Star Traders | 80 | N/A | 02 | 16990/- | 33980/- | 3 rd lowest bid. | | |
| Lowest Evaluated I | | 1 - 1/2 - | | | | M/S Bio Chem Distributor | | |

| S.No: 4 | Iter | n No:-4 L | Jric Acid Kit 5x100ml | | | | | | |
|-----------------------------|-----------------|---------------------------------|-----------------------|---------|-------------------------------|---|--|--|--|
| Name of Bidder | M |] | Evalution Cos | st (Rs) | Rule/Regulation/SBD/Policy/Ba | | | | |
| | (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 | | | |
| M/S Bio Chem Distributor | 70 | N/A | 02 | 9470/- | 18940/- | Accepted Being First Lowest being | | | |
| M/S Star Traders | 80 | N/A | 02 | 10700/- | 21400/- | Second lowest bid. | | | |
| M/S Ali & Brother | 75 | N/A | 02 | 13950/- | 27900/- | 3 rd lowest bid. | | | |
| Lowest Evaluated I | Bidder | | | | N | 1/S Bio Chem Distributor | | | |

| S.No: 5 | Item ! | No:-5 Ure | a Kit 2 | x300ml | | |
|-----------------------------|---------------------------------|---------------------------------|---------|---------------------|---------|---|
| Name of Bidder | Ma | arks | | Evalution Cost (Rs) | | Rule/Regulation/SBD/Policy/Ba |
| | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| M/S Bio Chem Distributor | 70 | N/A | 02 | 10450/- | 20900/- | Accepted Being First Lowest being |
| M/S Star Traders | 80 | N/A | 02 | 10850/- | 21700/- | Second lowest bid. |
| M/S Ali & Brother | 75 | N/A | 02 | 15300/- | 30600/- | 3 rd lowest bid. |
| Lowest Evaluated 1 | Bidder | | | | N | 1/S Bio Chem Distributor |

| S.No: 6 | Item N | o:-6 Calc | ium Ki | t 1x200ml | | |
|-----------------------------|---------------------------|---------------------------|--------|---------------|---------|---|
| Name of Bidder | Mı | arks | F | Evalution Cos | st (Rs) | Rule/Regulation/SBD/Policy/Ba |
| | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| M/S Bio Chem Distributor | 70 | N/A | 02 | 4090/- | 8180/- | Accepted Being First Lowest being |
| M/S Ali & Brother | 75 | N/A | 02 | 5250/- | 10500/- | Second lowest bid. |
| M/S Star Traders | 80 | N/A | 02 | 8250/- | 16500/- | 3 rd lowest bid. |
| Lowest Evaluated E | Bidder | | | | N | 1/S Bio Chem Distributor |

| S.No: 7 | Item I | No:-7 GPT | /ALT | Kit 1x400ml | | |
|-----------------------------|---------------------------------|---------------------------------|------|----------------------|---------|---|
| Name of Bidder | Ma | arks | F | Evalution Cos | t (Rs) | Rule/Regulation/SBD/Policy/Ba |
| | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| M/S Star Traders | 80 | N/A | 02 | 9440/- | 18880/- | Accepted Being First Lowest being |
| M/S Bio Chem Distributor | 70 | N/A | 02 | 10200/- | 20400/- | Second lowest bid. |
| M/S Ali & Brother | 75 | N/A | 02 | 11700/- | 23400/- | 3 rd lowest bid. |
| Lowest Evaluated I | Bidder | | | | | M/S Star Traders |

| S.No: 8 | Item No | :-8 Alkali | ne Pho | s. Kit 1x400 | | |
|-----------------------------|---------------------------------|---------------------------------|-------------------------------|---|----------|---|
| S.No: 8 Name of Bidder | Ma | arks | | Evalution Co | ost (Rs) | Rule/Regulation/SBD/Policy/Ba |
| | Technical (If Applicable) | Financial (If Applicable) | Qty Rate Amount per Rule 35 o | sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 | | |
| M/S Star Traders | 80 | N/A | 02 | 6475/- | 12950/- | Accepted Being First Lowest being |
| M/S Bio Chem Distributor | 70 | N/A | 02 | 10200/- | 20400/- | Second lowest bid. |
| M/S Ali & Brother | 75 | N/A | 02 | 13800/- | 27600/- | 3 rd lowest bid. M/S Star Traders |

| Item No | :-9 Glass | | | | |
|---------------------------|---------------------------------|---|--|---|--|
| Ma | arks | Eva | lution Co | st (Rs) | Rule/Regulation/SBD/Policy/Ba |
| Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| 80 | N/A | 51 Pack | 185/- | 9435/- | Accepted Being First Lowest being |
| 70 | N/A | 51 Pack | 220/- | 11220/- | Second lowest bid. |
| 75 | N/A | 51 Pack | 225/- | 11475/- | 3 rd lowest bid. M/S Star Traders |
| | Ma Technical (If Applicable) 80 | Marks Technical Financial (If (If Applicable) Applicable) 80 N/A N/A | MarksEvaTechnical (If (Applicable)Financial (If Applicable)Qty80Applicable)51 Pack70N/A51 Pack | MarksEvalution ControlTechnical (If Applicable)Financial (If Applicable)QtyRate80N/A51 Pack185/-70N/A51 Pack220/- | Marks Evalution Cost (Rs) Technical (If (If Applicable) (If (If Applicable) Applicable) Applicable) 80 N/A 51 Pack 185/- 9435/- 70 N/A 51 Pack 220/- 11220/- |

| S.No: 10 Name of Bidder | | Item No:-10 CP Vs Marks | | ocs. Pack) valution Cos | st (Rs) | Rule/Regulation/SBD/Policy/Ba |
|-------------------------------------|---------------------------|---------------------------------|----------------------------------|-------------------------|---------|--|
| or Didder | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| M/S Star Traders | 80 | N/A | 15 Pack | 680/- 6,80/- Each | 10200/- | Accepted Being First Lowest being |
| M/S Bio Chem | 70 | N/A | 15 Pack | 850/- 8.50/- Each | 12750/- | Second lowest bid. |
| M/S Ali & Brother | 75 | N/A | 15 Pack | 870/- 8.70/- Ench | 13050/- | 3 rd lowest bid. |
| Lowest Evaluated B S.No: 11 | ltem No: | - 12 HI | Bs Ag Kit(| High Qual | lity) | M/S Star Traders |
| Name of Bidder | | Financial (1f | Oty Rate Amount per Rule 35 of A | | | Rule/Regulation/SBD/Policy/Ba sis for Rejection//Acceptances per Rule 35 of AJK PPRA |
| M/S Bio Chem | Applicable) 70 | Applicable) N/A | | 22/- | 39600/- | Accepted Being First Lowest |
| Distributor M/S Ali & Brother | 75 | N/A | 1800 | 24/- | 43200/- | Second lowest bid. |
| M/S Star Traders Lowest Evaluated B | 80 | N/A | 1800 | 32.50/- | 58500/- | 3 rd lowest bid. M/S Bio Chem Distributor |

| S.No: 12 | Item No:- | 13 HCV K | it(High | Quality | | |
|--------------------|---------------------------------|---------------------------------|----------|------------|---------|---|
| Name of Bidder | | arks | Ev | alution Co | st (Rs) | Rule/Regulation/SBD/Policy/Ba |
| Health Office | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| Distributor | 70 | N/A | 1800 | 32/- | 57600/- | Accepted Being First Lowest being |
| M/S Ali & Brother | 75 | N/A | 1800 | 42/- | 75600/- | Second lowest bid. |
| M/S Star Traders | 80 | N/A | 1800 | 55/- | 99000/- | 3 rd lowest bid. |
| Lowest Evaluated I | Bidder | | | | | M/S Bio Chem Distributor |

| S.No: 13 | Item No:- | 14 H-Pylo | ri strips | 3 | | |
|-----------------------------|---------------------------------|---------------------------|-----------|--------------|---------|---|
| Name of Bidder | Ma | arks | E | valution Cos | st (Rs) | Rule/Regulation/SBD/Policy/Ba |
| Name of Bidder | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| M/S Bio Chem Distributor | 70 | N/A | 600 | 70/- | 42000/- | Accepted Being First Lowest being |
| M/S Ali & Brother | 75 | N/A | 600 | 72/- | 43200/- | Second lowest bid. |
| M/S Star Traders | 80 | N/A | 600 | 135/- | 81000/- | 3 rd lowest bid. |
| Lowest Evaluated I | Bidder | | | | | M/S Bio Chem Distributor |

| S.No: 14 | Item No:- | 15 Disposa | | e Containe | | |
|--------------------------|---------------------------------|---------------------------------|------|-------------|---------|---|
| Name of Bidder | Ma | arks | Ev | alution Cos | t (Rs) | Rule/Regulation/SBD/Policy/Ba |
| | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| M/S Star Traders | 80 | N/A | 2100 | 7/- | 14700/- | Accepted Being First Lowest being |
| M/S Ali & Brother | 75 | N/A | 2100 | 7.50/- | 15750/- | Second lowest bid. |
| M/S Bio Chem Distributor | 70 | N/A | 2100 | 8.50/- | 17850/- | 3 rd lowest bid. |
| Lowest Evaluated I | Bidder | | | | | M/S Star Traders |

and the Section of th

| S.No: 15 | Item No: | Item No:-17 Prickers (200 pcs. Pack) | | | | | | | | | |
|-----------------------------|---------------------------------|--------------------------------------|-----|--------------|---------|---|--|--|--|--|--|
| Name of Bidder | | arks | E | valution Cos | st (Rs) | Rule/Regulation/SBD/Policy/Ba | | | | | |
| | Technical (If Applicable) | Financial (1f Applicable) | Qty | Rate | Amount | sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 | | | | | |
| M/S Star Traders | 80 | N/A | 44 | 145/- | 6380/- | Accepted Being First Lowest being | | | | | |
| M/S Ali & Brother | 75 | N/A | 44 | 293/- | 12892/- | Second lowest bid. | | | | | |
| M/S Bio Chem Distributor | 70 | N/A | 44 | 300/- | 13200/- | 3 rd lowest bid. | | | | | |
| Lowest Evaluated F | Bidder | - | | | | M/S Star Traders | | | | | |

| S.No: 16 | Item No:-18 Yellow Tips(1000pcs) | | | | | | | | |
|-----------------------------|----------------------------------|--------------------|----|--------------|----------|---|--|--|--|
| Name of Bidder | Marks Technical Financial | | | Evalution Co | ost (Rs) | Rule/Regulation/SBD/Policy/Ba sis for Rejection//Acceptances | | | |
| | (lf Applicable) | (lf Applicable) | | Rate | Amount | per Rule 35 of AJK PPRA Rules,2017 | | | |
| M/S Bio Chem Distributor | 70 | N/A | 06 | 240/- | 1440/- | Accepted Being First Lowest being | | | |
| M/S Star Traders | 80 | N/A | 06 | 325/- | 1950/- | Second lowest bid. | | | |
| M/S Ali & Brother | 75 | N/A | 06 | 540/- | 3240/- | 3 rd lowest bid. | | | |
| Lowest Evaluated F | Bidder | | | | | M/S Bio Chem Distributor | | | |

| S.No: 17 | Item No: | :-19 Blue | Tips (| 1000 pcs) | | |
|--|---------------------------------|---------------------------------|--------|---------------------|----------|---|
| Name of Bidder | Marks | | | Evalution Co | ost (Rs) | Rule/Regulation/SBD/Policy/Ba |
| Name of Bidder All Health Officer Mis Bio Chem | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| M/S Bio Chem Distributor | 70 | N/A | 06 | 265/- | 1590/- | Accepted Being First Lowest being |
| M/S Star Traders | 80 | N/A | 06 | 375/- | 2250/- | Second lowest bid. |
| M/S Ali & Brother | 75 | N/A | 06 | 450/- | 2700/- | 3 rd lowest bid. |
| Lowest Evaluated B | idder | | | | | M/S Bio Chem Distributor |

| S.No: 18 | Item No:-20 Grouping Sera A,B,D(Set) | | | | | | | | |
|-----------------------------|--------------------------------------|---------------------------------|--|---------------|---------|---|--|--|--|
| Name of Bidder | Marks | | I | Evalution Cos | t (Rs) | Rule/Regulation/SBD/Policy/Ba | | | |
| | (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 | | | |
| M/S Bio Chem Distributor | 70 | N/A | 09 | 1050/- | 9450/- | Accepted Being First Lowest being | | | |
| M/S Ali & Brother | 75 | N/A | 09 | 1125/- | 10125/- | Second lowest bid. | | | |
| M/S Star Traders | 80 | N/A | 09 | 1295/- | 11655/- | 3 rd lowest bid. | | | |
| Lowest Evaluated I | Bidder | | Maria de la composición del composición de la composición de la composición del composición de la comp | | | M/S Bio Chem Distributor | | | |

| S.No: 19 | Item No:-2 | 21 Cover | Slips 24x2 | 4 (100 pc | es) | |
|-----------------------------|---------------------------|-----------------|---------------------|-----------|---------|---|
| Name of Bidder | Marks Technical Financial | | Evalution Cost (Rs) | | | Rule/Regulation/SBD/Policy/Ba |
| | (If Applicable) | (If Applicable) | Qty | Rate | Amount | sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| M/S Bio Chem Distributor | 70 | N/A | 24 Pack | 185/- | 4440/- | Accepted Being First Lowest being |
| M/S Star Traders | 80 | N/A | 24 Pack | 335/- | 8040/- | Second lowest bid. |
| M/S Ali & Brother | 75 | N/A | 24 Pack | 420/- | 10080/- | 3 rd lowest bid. |
| Lowest Evaluated I | Bidder | | | | | M/S Bio Chem Distributor |

| S.No: 20 | Item No:-2 | 2 Test Tu | bes Plastic | (500 pc | s. Pack) | - /CDD/Policy/Ro |
|--------------------------|--|---------------------------|-------------|------------|----------|---|
| Name of Bidder | The second secon | arks | Eval | ution Cost | (Rs) | Rule/Regulation/SBD/Policy/Ba |
| | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| M/S Star Traders | 80 | N/A | 6000 (pcs) | 1.97/-Each | 11820/- | Accepted Being First Lowest being |
| M/S Ali & Brother | 75 | N/A | 6000 (pcs) | 2.40/-Ench | 14400/- | Second lowest bid. |
| M/S Bio Chem Distributor | 70 | N/A | 6000 (pcs) | | | |
| Lowest Evaluated E | Bidder | | | | | M/S Star Traders |

| S.No: 21 | Item No:-2 | 23 Pregnar | ncy Strips | (50 pcs) | | |
|-----------------------------|---------------------------------|---------------------------------|------------|------------|----------|---|
| Name of Bidder | M | arks | Ev | alution Co | ost (Rs) | Rule/Regulation/SBD/Policy/Ba |
| Traine of Diane. | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| M/S Bio Chem Distributor | 70 | N/A | 36 Pack | 850/- | 30600/- | Accepted Being First Lowest being |
| M/S Ali & Brother | 75 | N/A | 36 Pack | 900/- | 32400/- | Second lowest bid. |
| M/S Star Traders | 80 | N/A | | Nil | | Rate Not Quoted. |
| Lowest Evaluated B | Bidder | | | | | M/S Bio Chem Distributor |

| S.No: 22 | Item No:-2 | 4 Multi St | rip (100 p | | | |
|--------------------|---------------------------------|---------------------------------|------------|---------|-------------------------------|---|
| Name of Bidder | Ma | Eva | alution Co | st (Rs) | Rule/Regulation/SBD/Policy/Ba | |
| F. Lindle Co. | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| M/S Bio Chem | 70 | N/A | 15 Pack | 950/- | 14250/- | Accepted Being First Lowest being |
| M/S Ali & Brother | 75 | N/A | 15 Pack | 1170/- | 17550/- | Second lowest bid |
| M/S Star Traders | 80 | N/A | 15 Pack | 1295/- | 19425/- | 3 rd lowest bid. |
| Lowest Evaluated I | Ridder | | | | | M/S Bio Chem Distributor |

| Item No:-25 | Typhoid | kit (40 pcs. Pack) | | | |
|---------------------------|---------------------------------|---|---|--|---|
| | | | alution Cos | t (Rs) | Rule/Regulation/SBD/Policy/Ba |
| Technical Fina (If (If | | Qty Rate | | Amount | sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| 70 | N/A | 15 Pack | 85/- Each 3400/-Pack | 51000/- c of 40 | Accepted Being First Lowest being |
| 75 | N/A | 15 Pack | 93/- Each 3720/-Pack | 55800/- c of 40 | Second lowest bid. |
| 80 | N/A | | Nil | | Rate Not Quoted. M/S Bio Chem Distributor |
| | Ma Technical (If Applicable) 70 | Marks Technical Financial (If (If Applicable) Applicable) 70 N/A N/A | MarksEvaluationTechnical (If (Applicable)Financial (If Applicable)Qty70N/A15 Pack75N/A15 Pack | Marks Evalution Cos Technical (If (If Applicable) Financial (If Applicable) Qty Rate 70 N/A 15 Pack 85/- Each 3400/-Pack 3400/-Pack 3720/-Pack 3720/-Pack 3720/-Pack | Marks Evalution Cost (Rs) Technical (If Applicable) Financial (If Applicable) Qty Rate Amount 70 N/A 15 Pack 85/- Each 51000/- 3400/-Pack of 40 75 N/A 15 Pack 93/- Each 55800/- 3720/-Pack of 40 |

| S.No: 24 | Item No:-29 | Disposabl | e Syring 3 | k) | | |
|-------------------------------|---------------------------------|---------------------------------|-----------------|-----------------------|---------|---|
| Name of Bidder | Marks | | Eva | alution Cos | t (Rs) | Rule/Regulation/SBD/Policy/Ba |
| Name of Bidder | Technical (If Applicable) | Financial (If Applicable) | Qty Rate Amount | | Amount | sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| M/S Bio Chem | 70 | N/A | 24 Pack | 850 8.5/- Each | 20400/- | Accepted Being First Lowest being |
| Distributor M/S Ali & Brother | 75 | N/A | 24 Pack | 1185/- 11.85/- Eac | 28440/- | Second lowest bid. |
| M/S Star Traders | 80 | N/A | | Nil | | Rate Not Quoted. M/S Bio Chem Distributor |
| Lowest Evaluated I | Bidder | | | | | WI/S BIO CHEIII DISTIBUTO |

| Name of Bidder | Item No:-31 Dettol Ant Marks | | | Evalution Co | net (De) | Rule/Regulation/SBD/Policy/Ba |
|--------------------------|------------------------------|---------------------------|-----|--------------|----------|---|
| | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| M/S Bio Chem Distributor | 70 | N/A | 66 | 850/- | 56100/- | Accepted Being First Lowest being |
| M/S Ali & Brother | 75 | N/A | 66 | 950/- | 62700/- | Second lowest bid. |
| M/S Star Traders | 80 | N/A | | Nil | 02/00/- | Rate Not Quoted. |
| Lowest Evaluated 1 | | N/A | | Nil | | Rate Not Quoted. M/S Bio Chem Distributo |

Districe Health Officer

District Health officer

Mirpur AK

Evaluation Report (As per Rule 35 of Public Procurement Rules, 2017)

1- Name of Procuring Agency <u>District Health Officer Office Mirpur (A.K)</u>

2- Method Of Procurement Open Competitive Bidding

3- Title of Procurement

Bedding Cloting/Utencils F.Y 2021-22

4- Tender Inquiry No

Bedding Cloting/Utencils F.Y 2021-22

AJK-MR-23-N-2021

Daily Parliament Time, Khabrain, Adalat Mirpur, Kashmirexpress 20-09-2021

5- PPRA Ref. No.(TSE) 3306

6- Date& Time of Bid Closing
7- Date& Time of Bid Opening
01-11-2021 -11:30 AM

8- No. Of Bids Received

9- Criteria For Bid Evaluation TECHNICAL & FINANCIAL

| tem No:-0 | arks | Both Si | | Fine Q | uality |
|-----------------------------|-------------------------------------|---|--|--|---|
| M | arks | | | | |
| echnical | | | valution Co | st (Rs) | Rule/Regulation/SBD/Policy/Basis |
| f pplicable) | Financial (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| 5 | N/A | 32 | 315/- | 10080/- | Accepted Being First Lowest being |
| 0 | N/A | 32 | 440/- | 14080/- | Second lowest bid. |
| 5 | N/A | 32 | 450/- | 14400/- | 3 rd lowest bid. |
| 00 | N/A | 32 | 690/- | 22080/- | 4rth lowest bid. |
| idder | | | | | M/S Ali & Brother |
| Item No: | -02 Bed | Sheet H | ospital Wh | ite Zeen68x | 98 Fine Quality |
| Ma | arks | E | valution Cos | st (Rs) | Rule/Regulation/SBD/Policy/Basis |
| echnical f pplicable) | Financial (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| o di | oplicable) idder Item No: Machnical | (If Applicable) N/A N/A N/A N/A N/A N/A Marks chnical Financial (If | (If Applicable) N/A 32 N/A 32 N/A 32 N/A 32 N/A 32 N/A 32 Midder Item No:-02 Bed Sheet H Marks chnical Financial (If Qty | (If Applicable) N/A 32 315/- N/A 32 440/- N/A 32 450/- N/A 32 690/- Idder Item No:-02 Bed Sheet Hospital When the second of the second o | Complicable Complicable |

| 10:-02 | Item No. | 02 Deu | Sheet 11 | tospital Will | ite Zeenoox | 70 Time Quanty |
|------------------------------|---------------------------------|---------------------------------|----------|---------------|-------------|--|
| wine of Bidder | M | arks | E | valution Cos | t (Rs) | Rule/Regulation/SBD/Policy/Basis |
| Name of Bidder | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| M/S Bio Chem Distributors | 70 | N/A | 50 | 530/- | 26500/- | Accepted Being First Lowest being |
| M/S Medicamp Distributors | 100 | N/A | 50 | 575/- | 28750/- | Second lowest bid. |
| M/S Ali & Brother | 75 | N/A | 50 | 660/- | 33000/- | 3 rd lowest bid. |
| M/S Star Traders | 75 | N/A | 50 | 1250/- | 62500/- | 4rth lowest bid. |
| Lowest Evaluated | d Bidder | | | | | M/S Bio Chem Distributors |

| S.No: 3 | Item No: | -03 Matr | ress Mol | ty Fom 78x3 | 6x4 | Five Star Foam |
|------------------------------|---------------------------------|---------------------------------|----------|---------------|---------|--|
| Name of Bidder | M | arks | E | valution Cost | (Rs) | Rule/Regulation/SBD/Policy/Basis |
| | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| M/S Bio Chem Distributors | 70 | N/A | 07 | 6500/- | 45500/- | Accepted Being First Lowest being |
| M/S Ali & Brother | 75 | N/A | 07 | 7830/- | 54810/- | Second lowest bid. |
| M/S Medicamp Distributors | 100 | N/A | 07 | 1 1 800/- | 82600/- | 3 rd lowest bid. |
| M/S Star Traders | 75 | N/A | | Nil | | Rate Not Quoted. |
| Lowest Evaluated | l Bidder | | | | | M/S Bio Chem Distributor |

| Item No:- | -04 Matr | Fine Quality | | | |
|---------------------------|---------------------------------|--|---|--|---|
| M | arks | E | valution Cos | t (Rs) | Rule/Regulation/SBD/Policy/Basis |
| Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| 75 | N/A | 20 | 1050/- | 21000/- | Accepted Being First Lowest being |
| 75 | N/A | 20 | 1200/- | 24000/- | Second lowest bid. |
| 100 | N/A | 20 | 1250/- | 25000/- | 3 rd lowest bid. |
| 70 | N/A | | Nil | | Rate Not Quoted. M/S Star Traders |
| | Technical (If Applicable) 75 75 | Marks Technical Financial (If (If Applicable) Applicable) 75 N/A N/A N/A | MarksETechnical (If Applicable)Financial (If Applicable)Qty75N/A2075N/A20100N/A20 | Marks Evalution Cos Technical (If Applicable) Financial (If Applicable) Qty Rate 75 N/A 20 1050/- 75 N/A 20 1200/- 100 N/A 20 1250/- | Marks Evalution Cost (Rs) Technical (If Applicable) Financial (If Applicable) 75 N/A 20 1050/- 21000/- 75 N/A 20 1200/- 24000/- 100 N/A 20 1250/- 25000/- |

| S.No: 5 | Item No: | 05 Pillo | w /foan | n size Std siz | ze | Fine Quality |
|------------------------------|---------------------------------|---------------------------------|---------|----------------|---------|--|
| Name of Bidder | | larks | F | Evalution Cos | st (Rs) | Rule/Regulation/SBD/Policy/Basis |
| | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| M/S Bio Chem Distributors | 70 | N/A | 20 | 370/- | 7400/- | Accepted Being First Lowest being |
| M/S Ali & Brother | 75 | N/A | 20 | 450/- | 9000/- | Second lowest bid. |
| M/S Medicamp Distributors | 100 | N/A | 20 | 490/- | 9800/- | 3 rd lowest bid. |
| M/S Star Traders | 75 | N/A | 20 | 510/- | 10200/- | 4rth lowest bid. |
| Lowest Evaluated | d Ridder | | | | | M/S Bio Chem Distributors |
| S.No: 6 | Item No:-0 | 07 Blank | et Gray | Hospital St | td size | Fine Quality |
| Name of Bidder | | larks | | Evalution Cos | | Rule/Regulation/SBD/Policy/Basis |
| Name of Bluder | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| M/S Bio Chem Distributors | 70 | N/A | 20 | 1750/- | 35000/- | Accepted Being First Lowest being |
| M/S Ali & Brother | 75 | N/A | 20 | 2400/- | 48000/- | Second lowest bid. |
| M/S Star Traders | 75 | N/A | 20 | 2750/- | 55000/- | 3 rd lowest bid. |
| M/S Medicamp Distributors | 100 | N/A | 20 | 3800/- | 76000/- | 4rth lowest bid. |
| Distribute | 1 | | | | | M/S Bio Chem Distributors |

| Item No:- | 08 Pillow | cover S | td size | Fine Quality | | | |
|-----------|-------------------------------------|---|--|---|--|--|--|
| | | E | valution Co | st (Rs) | Rule/Regulation/SBD/Policy/Basis | | |
| (If (If | | Qty Rate | | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 | | |
| 75 | N/A | 50 | 90/- | 4500/- | Accepted Being First Lowest being | | |
| 100 | N/A | 50 | 95/- | 4750/- | Second lowest bid. | | |
| 70 | N/A | 50 | 110/- | 5500/- | 3 rd lowest bid. | | |
| 75 | N/A | 50 | 275/- | 13750/- | 4rth lowest bid. M/S Ali & Brother | | |
| | Technical (If Applicable) 75 100 70 | Technical Financial (If Applicable) Applicable) N/A 100 N/A N/A | MarksETechnical (If (Applicable)Financial (If | Marks Evalution Control Technical (If (If Applicable) Applicable) Qty Rate (If Applicable) 75 N/A (In In I | Marks Evalution Cost (Rs) Technical (If Applicable) Financial (If Applicable) 75 N/A 100 N/A 50 95/- 4750/- 70 N/A 50 275/- 110/- 5500/- | | |

District Health officer Mirpur AK

Evaluation Report

(As per Rule 35 of Public Procurement Rules, 2017)

1- Name of Procuring Agency

2- Method Of Procurement

3- Title of Procurement 4- Tender Inquiry No

5- PPRA Ref. No.(TSE)

6- Date& Time of Bid Closing

7- Date& Time of Bid Opening

8- No. Of Bids Received

9- Criteria For Bid Evaluation

10- Details of Bid (s) Evaluation

District Health Officer Office Mirpur (A.K)

Open Competitive Bidding

(Single stage-Two Envelope Procedure)

Surgical/Medical Equipment

AJK-MR-23-N-2021

Daily Parliament Time, Khabrain, Adalat Mirpur, Kashmirexpress 20-09-2021

3306

01-11-2021 -11AM

01-11-2021 -11:30 AM

TECHNICAL & FINANCIAL

As under

| S.No: 01 | Item No:-2 No | edle Holder Sma | 11 | Specification: 6" Pak Made. | | | |
|------------------------------|------------------------------|------------------------------|-----|-----------------------------|---------|--|--|
| Name of Bidder | Mark | is | | Evalution Cos | it (Rs) | Rule/Regulation/SBD/Policy/Basis | |
| | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 | |
| M/S Star Traders | 85 | N/A | 50 | 290/- | 14500/- | Accepted Being First Lowest being | |
| M/S Ali & Brother | 75 | N/A | 50 | 300/- | 15000/- | Second lowest bid. | |
| M/S Bio Chem Distributors | 65 | N/A | 50 | 300/- | 15000/- | 3 rd lowest bid. | |
| M/S Medicamp Distributors | 100 | N/A | 50 | 350/- | 07500/- | 4rth lowest bid. | |
| west Evaluate | d Bidder | • | | | | M/S Star Traders | |

| S.N5: 02 It | em No:-3 Ar | tery Forceps | | Specification: | 6" Pak Made | е. |
|------------------------------|------------------------------|---------------------------|-----|----------------------|-------------|--|
| Nome of Bidder | Mark | S | | Evalution Cos | st (Rs) | Rule/Regulation/SBD/Policy/Basis |
| M/S Star Traders | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| M/S Star Traders | 85 | N/A | 30 | 250/- | 7500/- | Accepted Being First Lowest being |
| M/S Bio Chem Distributors | 65 | N/A | 30 | 250/- | 7500/- | Second lowest bid. |
| M/S Ali & Brother | 75 | N/A | 30 | 300/- | 9000/- | 3 rd lowest bid. |
| M/S Medicamp Distributors | 100 | N/A | 30 | 375/- | 11250/- | 4rth lowest bid. |
| Lowest Evaluated | Bidder | | | | | M/S Star Traders |

| 511.01.02 | | Set Apparatus N | viercur | | (Da) | Dula/Degulation/SPD/Policy/Pagie |
|------------------------------|-----------------|------------------------------|---------|----------------|----------|---|
| Name of Bidder | Mark | | - | Evalution Cost | t (RS) | Rule/Regulation/SBD/Policy/Basis for Rejection//Acceptances per Rule |
| | (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | 35 of AJK PPRA Rules,2017 |
| M/S Star Traders | 85 | N/A | 20 | 4500/- | 90000/- | Accepted Being First Lowest being |
| M/S Ali & Brother | 75 | N/A | 20 | 4800/- | 96000/- | Second lowest bid. |
| M/S Bio Chem Distributors | 65 | N/A | 20 | 12000/- | 240000/- | 3 rd lowest bid. |
| M/S Medicamp Distributors | 100 | N/A | 20 | 15750/- | 315000/- | 4rth lowest bid. |
| Lowest Evaluated | Bidder | | | | | M/S Star Traders |

| S.No: 04 It | em No:-6 Ste | thoscope Sp | ecification | on: High Qua | lity Dual/Hea | d Stethoscope |
|---------------------------|------------------------------|---------------------------|-------------|--------------|---------------|--|
| Name of Bidder | Mark | S | | Evalutio | n Cost (Rs) | Rule/Regulation/SBD/Policy/Basis |
| | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| M/S Ali & Brother | 75 | N/A | 30 | 720/- | 21600/- | Accepted Being First Lowest being |
| M/S Star Traders | 85 | N/A | 30 | 990/- | 29700/- | Second lowest bid. |
| M/S Medicamp Distributors | 100 | N/A | 30 | 1875/- | 56250/- | 3 rd lowest bid. |
| M/S Bio Chem Distributors | 65 | N/A | 30 | 2500/- | 75000/- | 4rth lowest bid. |
| Lowest Evaluated | Diddor | | | | | M/S Ali & Brother |

| S.No: 05 It | em No:-7 Ste | rilizer ss Small E | lec | Specification | : Small Elect | tric Pak Made. | |
|------------------------------|------------------------------|---------------------------|-----|---------------|---------------|--|--|
| Name of Bidder | Mark | is | | Evalution Cos | st (Rs) | Rule/Regulation/SBD/Policy/Basis | |
| | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate Amount | | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 | |
| M/S Bio Chem Distributors | 65 | N/A | 10 | 2950/- | 29500/- | Accepted Being First Lowest being | |
| M/S Star Traders | 85 | N/A | 10 | 3100/- | 31000/- | Second lowest bid. | |
| M/S Ali & Brother | 75 | N/A | 10 | 3750/- | 37500/- | 3 rd lowest bid. | |
| M/S Medicamp Distributors | 100 | N/A | 10 | 4500/- | 45000/- | 4rth lowest bid. | |
| Lowest Evaluated | l Bidder | | | | | M/S Bio Chem Distributors | |

| S.No: 06 Ite | m No:-8 Scis | sors 6" Pak Mad | e | Specification: | Pak Made. | |
|------------------------------|-----------------|---------------------------|-----|---------------------|-----------|---|
| Name of Bidder | Marks | | | Evalution Cost (Rs) | | Rule/Regulation/SBD/Policy/Basis |
| | (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rul 35 of AJK PPRA Rules,2017 |
| M/S Ali & Brother | 75 | N/A | 50 | 225/- | 11250/- | Accepted Being First Lowest being |
| M/S Star Traders | 85 | N/A | 50 | 250/- | 12500/- | Second lowest bid. |
| M/S Medicamp Distributors | 100 | N/A | 50 | 300/- | 15000/- | 3 rd lowest bid. |
| M/S Bio Chem Distributors | 65 | N/A | 50 | 350/- | 17500/- | 4rth lowest bid. |
| Lowest Evaluated | Ridder | | | | | M/S Ali & Brother |

| S.No: 07 Item No:-9 B.P Bladder with cuff cotton size 48-14cm | | | | Specification: Blader PVC or latex size 22-14cm cuff nylon or | | | |
|---|---------------------------------|------------------------------|-----|---|---------|--|--|
| Name of Bidder | Marks | | | Evalution Cost (Rs) | | Rule/Regulation/SBD/Policy/Basis | |
| calific L.K. | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 | |
| MS Bio Chem Distributors | 65 | N/A | 25 | 570/- | 14250/- | Accepted Being First Lowest being | |
| M/S Ali & Brother | 75 | N/A | 25 | 675/- | 16875/- | Second lowest bid. | |
| M/S Star Traders | 85 | N/A | 25 | 740/- | 18500/- | 3 rd lowest bid. | |
| M/S Medicamp Distributors | 100 | N/A | 25 | 3525/- | 88125/- | 4rth lowest bid. | |
| Lowest Evaluated | Bidder | | | | | M/S Bio Chem Distributors | |

| S.No: 08 Ite | m No:-10 B | 3.P Bulb Spec | | : PVC Latex | | D 1 (D 1 1) (CDD/D-1) (D-1) |
|------------------------------|---------------------------------|------------------------------|-----|--------------|---------|--|
| Name of Bidder | Ma | rks | | Evalution Co | st (Rs) | Rule/Regulation/SBD/Policy/Basis |
| | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| M/S Ali & Brother | 75 | N/A | 30 | 270/- | 8100/- | Accepted Being First Lowest being |
| M/S Bio Chem Distributors | 65 | N/A | 30 | 310/- | 9300/- | Second lowest bid. |
| M/S Star Traders | 85 | N/A | 30 | 475/- | 14250/- | 3 rd lowest bid. |
| M/S Medicamp Distributors | 100 | N/A | 30 | 1500/- | 45000/- | 4rth lowest bid. |
| Lowest Evaluated | Bidder | _ | | | | M/S Ali & Brother |

| S.No: 09 | Item No:-11 | Dressing Drum ss | | Specification: | | |
|------------------------------|---------------------------------|------------------------------|---------------|----------------|----------------------------------|--|
| Name of Bidder | | | Evalution Cos | t (Rs) | Rule/Regulation/SBD/Policy/Basis | |
| | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| M/S Ali & Brother | 75 | N/A | 12 | 1425/- | 17100/- | Accepted Being First Lowest being |
| M/S Star Trader | s 85 | N/A | 12 | 1500/- | 18000/- | Second lowest bid. |
| M/S Medicamp Distributors | | N/A | 12 | 2250/- | 27000/- | 3 rd lowest bid. |
| M/S Bio Chem Distributors | 65 | N/A | 12 | 9800/- | 117600/- | 4rth lowest bid. |
| Lowest Evalua | ted Bidder | | | | | M/S Ali & Brother |

| 5.No: 10 It | em No:-12 | Stainless Steel Ton | gue Dep | ressor S | pecification: l | Pak Made. |
|------------------------------|---------------------------|------------------------------|-------------|-----------|----------------------------------|--|
| Name of Bidder | Ma | | Evalution C | Cost (Rs) | Rule/Regulation/SBD/Policy/Basis | |
| | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| M/S Medicamp Distributors | 100 | N/A | 100 | 175/- | 17500/- | Accepted Being First Lowest being |
| M/S Ali & Brother | 75 | N/A | 100 | 180/- | 18000/- | Second lowest bid. |
| M/S Bio Chem Distributors | 65 | N/A | 100 | 200/- | 20000/- | 3 rd lowest bid. |
| M/S Star Traders | 85 | N/A | 100 | 295/- | 29500- | 4rth lowest bid. |
| Lowest Evaluated | Bidder | | | | | M/S Medicamp Distributors |

| m No:-13 U | rip Stand Sp | ecificati | on: 5 Wheel | 4 Hooks Plasti | c Base Heavy Duty Local Made. |
|---------------------------------------|---------------------------------|--|-------------|--|--|
| Ma | rks | The state of the s | | | Rule/Regulation/SBD/Policy/Basis |
| Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| 65 | N/A | 10 | 4100/- | 41000/- | Accepted Being First Lowest being |
| 75 | N/A | 10 | 5100/- | 51000/- | Second lowest bid. |
| 85 | N/A | 10 | 5750/- | 57500/- | 3 rd lowest bid. |
| 100 | N/A | | Nil | | Rate Not Quoted. |
| ֡֡֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜֜ | Technical (If Applicable) 65 75 | Marks Technical Financial (If | Marks | Marks Evalution Co Technical (If Applicable) Qty Rate Applicable N/A 10 4100/- 75 N/A 10 5100/- 85 N/A 10 5750/- | Marks Evalution Cost (Rs) |

| S.No: 12 Ite | em No:-14 S | tool Steel Adjusta | ble | Specification | : Pak Made | |
|------------------------------|---------------------------------|------------------------------|-----|---------------------|------------|--|
| Name of Bidder | Marks | | | Evalution Co | st (Rs) | Rule/Regulation/SBD/Policy/Basis |
| | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| M/S Bio Chem Distributors | 65 | N/A | 08 | 1900/- | 15200/- | Accepted Being First Lowest being |
| M/S Star Traders | 85 | N/A | 08 | 2200/- | 17600/- | Second lowest bid. |
| M/S Ali & Brother | 75 | N/A | 08 | 2700/- | 21600/- | 3 rd lowest bid. |
| M/S Medicamp Distributors | 100 | N/A | | Nil | | Rate Not Quoted. |
| Lowest Evaluated | Bidder | | | | | M/S Bio Chem Distributors |

| S.No: 13 Ite | m No:-17 | Thermometer Mer | curial | Specificat | ion: Pak Made | |
|------------------------------|---------------------------------|------------------------------|--------|---------------------|---------------|--|
| Name of Bidder | Marks | | | Evalution Co | ost (Rs) | Rule/Regulation/SBD/Policy/Basis |
| | Technical (If Applicable) | Financial (If Applicable) | Qty | Rate | Amount | for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 |
| M/S Star Traders | 85 | N/A | 50 | 250/- | 12500/- | Accepted Being First Lowest being |
| M/S Bio Chem Distributors | 65 | N/A | 50 | 250/- | 12500/- | Second lowest bid. |
| M/S Ali & Brother | 75 | N/A | 50 | 270/- | 13500/- | 3 rd lowest bid. |
| M/S Medicamp Distributors | 100 | N/A | | Nil | | Rate Not Quoted. |
| Lowest Evaluated | Bidder | | | | | M/S Star Traders |

District Health Officer Mirpur A.K

Official Stamp: ______